FybhNISTy b

Fy RISy b

W
B B1 4-Sx¢ L
wit 3! C1 c
o N I
30 Hf‘ F 0.1 tE? b1
" K
30° & |/ -
— |
&)
4-S1X{1 OO
Bt mm
v & 2R
BURE W Wi B B L c C F K
MC 1004 48 24 40 4 32 16 10 20 325
MC 1205 60 30 47 6.5 36 24 6 21 37
MC 1408 60 30 50 36 20 10 215 37
MC 2010 86 43 70 50 30 10 31 54
MC 2020 86 43 70 8 40 24 8 28 51
— 5
BURE T D PCD Sx¢ S x4 kg
MC 1004 9 26.4 36 M5X 10 M4 x7 0.24
MC 1205 9 30.4 40 M6 X 12 M4 x7 0.38
MC 1408 9 34.4 45 M6 X 12 M5 X7 0.34
MC 2010 16 46.4 59 M10x 20 M6x10 1.04
MC 2020 16 30.4 59 M10x 20 M6xX 10 0.83
— FAREEF
BUTE K=t C B
MC 1004 BNK1004,BNK1010
MC 1205 | BNK1205
MC 1408 | BNK1408,BNK1510,BNK1520,BNK1616
MC 2010 | BNK2010
MC 2020 | BNK2020

TR 315-329

. ERRY TP O Bp](— e



